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1)Malarial paroxysm pattern that appear in day 1 and 4 and 7 etc. can be caused by?
A. Plasmodium falciparum.

B. Plasmodium vivax.

C. Plasmodium ovale.

D. Plasmodium malariae.

E. Babesia microti.

answer: d

2)The characteristic 4 ring form trophozoites are present in the following parasite?
a. Leishmania tropica. b. Entamoeba histolytica. c. Trypanosoma brucei.
d. Plasmodium malariae. e. Babesia microti.

answer: e

3)Malarial paroxysm pattern that appear in day 1 and 4 and 7 etc. can be caused by?
a. Plasmodium falciparum.

b. Plasmodium vivax.

c. Plasmodium ovale.

d. Plasmodium malariae.

e. Babesia microti.

answer: q
4))Regarding Babesiosis symptoms, one of the following is incorrect?

Select one:

a. Mild chills and fever.

b. Hernoiytic anemia.

c. Jaundice.

d. Hepatomegaty.

e. Malarial like paroxysm is present.

answer: e
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5)Malarial pattern disease characterized by Renal and CNS involvement no
a. Plasmodium falciparum.

b. Plasmodium vivax

c. Plasmodium ovate.

d. Plasmodium malariae.

e. Babesia microti.

answer: a
which type of malarial paroxysm appear every 3 days (2 days symptom free)?
- P.malarie

False regarding p.falciparum?
-Paroxysm every other day
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1) According to Elephantiesis: all of the followings are correct EXCEPT

a. lymphadenitis and recurrent high fever every 8 to 10 weeks, which lasts 3 to 7
days.

b. Lymphadenitis and lymphangitis are due to circulating microfilaria.

c. Protection can be by avoidance of mosquitoes in endemic areas.

d. Cooler climate reduces symptoms.

e. Not all infections lead to elephantiasis

answer: b

2) One of the following parasites are acquired through consumption of infected
raw orundercooked meat containing oocyst?

a. Fasciola hepatica.

b. Wucheren'a microti.

c. Plasmodium malariae.

d. Babesia microti.

e. Toxoplasma gondii.

answer: e

3)In Wuchereria life cycle which one is incorrect?

a. Filariform larvae enter the human body during a mosquito bite and migrate to
various

tissues.

b. There directly filariform become mature and produce microfilaria which migrate toj
lymphatics.

c. Microfilaria at night, enter the blood circulation.

d. Mosquitos are infected during a blood meal.

e. The microfilaria grow 4 to 5 fold in the mosquito in 10 to 14 days and become
infective for

man.
answer: b
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4)In Toxoplasmosis, one is wrong?

a. The etiologic agent T. gondii is distributed worldwide.

b. Few of the populations is seropositive.

c. Threat to immunosuppressed and unborn (pregnant females).

d. Oocysts contain two sporocysts, each of which encloses four Sporozoites.
e. Can cause congenital effects.

answer: b

5)mode of transmission of wuchereia
A- bite
B- blood transfusion
C- transplant
D- inhalation
E- digestion
answer: a
diwd] 030 il pudla puitlo JSwiw  §leii B CaruiyBb 839290 dliwl

What disease has this; 1-5 aborted ,8-10 serious brain and eye dmg..?
-toxoplasmosis *serious brain and eye damage are a clue

sabine test is for?
toxoplasma gondi
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1. Severe pharyngitis with diffuse pharyngeal inflammation and tonsillar swelling+Fever :
A)EPV

B) parvovirus

C) B12 virus

D) Babesia

Ans:A
2. Slap cheek rash?
5th Erythema infectiosum > P19.

3. The disease that manifest rash and redness?
5th disease (Erythema infectiosum) P19.

4.Antibody in ebv? -heterophile AB.

5. A 19-year-old college freshman has a sore throat, sore and enlarging cervical lymph nodes, and
a fever. The student is also greatly fatigued. A diagnosis of infectious mononucleosis is made. The
MOST rapid, and clinically useful test to make this diagnosis is?
a. IgG antibody to viral capsid antigen.
b. Parvovirus B19 IgM antibodies.
c. Antibedies to FBV membrane antigen.
d. Antibody to EBV nuclear antigen.
e..JgM antibody to viral capsid antigen.
Ans:E
not a- IgG - past
not b it’s EBV not paro
not ¢ antibodies happen late
not d because nuclear is after 6weeks of symptoms
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1. Common diagnosis for brucellosis by using :
A)blood culture.

B)urine culture.

C)stool culture.

D)saliva.

E)serology
Ans: A
2. Non lactose fermentation using :
A)MacConkey’s
B)WILSON&BLAIR BISMUTH SULPHITE MEDIUM
C)XLD
Ans:A

3. All of the following considered mode of transmission with Salmonella, except:
A. Sneezing
B. Asymptomatic carrier
C. Human feces
D. Milk, food
Ans: A
4. Chronic and asymptomatic patient of salmonella diagnosed by?
-Fecal culture

5.Cause salmonella septicemia?
-s.cholerasuise

6. Reiter syndrome is associated with which pathogen?
Salmonella enteritidis -

arthritis Josi )2i0 LgisS an mblo JSuin lins go

7. H2S gives black centers on which media?
-XLD
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8. A patient complained of fever, bradycardia and rose maculopapular rash on his trunk must make you
suspect?
a. Brucella abortus.
b. Brucella suis.
c. Salmonella enteritidis.
d. Salmonella typhimurium.
e. Salmonella paratyphi.
Ans:e
9. Salmonella typhi one is WRONG?
a. Motile.
b. Non lactose fermenter.
c. Encapsulated.
d. Causes enteric fever.
e. Treatment is supportive and no need for antibiotics.
All are true

10. The most complication of brucellosis is :
A- liver failure

B- heart attack

G- Kidney failure

D- lymphoma

Ans: A
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1.The vector that causes Reckettisa Prowazekii?
. bl lies g0 Pediculus corporis

2. Epidemic typhus with ? ,S»
A)Q fever
B) Rickettsia typhi
C)Rickettsia prowazekii
D) leishmania
Ans: C
3.spotted rocky mountain fever from which pathogen?
- Rickettsia rickettsii

4. According to Richettsia prowazekii, One is wrong?
A. Vasculitis
B. Gangrene
C. Extracellular parasites damage endothelial cells of the blood vessels.
D. Vector: tick
E. Endocarditis

Ans: ¢; its obligated intracellular not extra.
5.Which of the following is NOT a reason why eradication of Q fever is considered impractical?
A)The disease has a wide range of animal reservoirs.
B) Coxiella burnéetii is highly resistant in the environment.
C) It is transmitted via aerosols, making control difficult.
D) Diagnosis is difficult and often delayed.
E) The disease is limited to only one geographic region.

Ao Olylsdlg Jlgwdl devs Answer: E

6. All of the following regard Q fever is true except:
Highly hospitalizations in the acute phase cases.

7. Most common C.Burinitii:
Breathing in air contaminated.
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8. Coxiella bumetii (Q fever) can be characterized by all of the following EXCEPT?
a. Obligate intracellular parasite.

b. Humans are dead-end hosts.
c¢. Transmitted by vector.
d. incubation: 9-40 days.
e. Aerosol is not a mode of transmission of the disease.
Ans: c&e
9. The false statement about Coxiella Burnetii:
All cases require hospitalization.
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1. Yersinia pestis , one statement is incorrect :
A)contain two cycles : sylvatictdemostic.

B)most common for death is shock.
C)diffuse black fingers.
D)safety pin appearance.
E)death due to pneumatic phase without treatment 5%.
elw 24 JY5 %100 dowi)l 463 2SS G Ll LBL (4o 83Slie Live Ans: E
2.True about yersinia pestis? "
- use hms system to secrete their proteins.

3. False about yersinia?
-it hemolyze blood.

4.The plaque spreads from - to ----, and then to -
A- Rats, fleas, humans.
B- fleas, rats, humans.
Ans: B

5 Contrary to popular belief, rats did not directly start
the spread of the plague mainly bubonic. It is mainly
a disease in the fleas that infested the rats and
dogs, making the rats and dogs themselves the first
victims of the plague. Infection in a human occurs
when a person is bitten by a flea or come in contact
with infected rat or dog

[ PRSI [N S PO P S | S S S T N JIty GRS

5. Yersinia pestis is a bacterium responsible for plague, which of the followings is TRUE?
a. Motile.
b. Spore forming.
c¢. Has a safety pin appearance (bipolar staining).
d. Penicillin is the treatment of choice.
e. Can not grow at 280C.
Ans :C; from Lab lecture.
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6.Bubonic plague is transmitted by which of the followings?
a. Xenopsylla cheopis flea bite.

b. Sexually.
c. Fecally.
d. Armored mites bite.
e. African ticks bite.
A BB 54518 G ino S
7. Which of the followings is a special medium for Yersina pestis?
a. Qysteine lactose electrolyte deficient (CLED) agar.
b. Nutrient agar.
¢. Mannitol salt (MSA) agar.
d. Charcol-based agar.
e. Cefsulodin. Irgasan. Nevobiocin (CIN) agar.
G3 ¢ WL Yoy g 983 Lie WML Li> blood agar ks S35 Liee Juoladl S e Ans : ¢
ferment glucose and mannitol with the production of acid only

8. This type of plaque is the most dangerous?
- Pneumonic plague.
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1. Indian patient have Lymph node enlargment , spleenohepatomegaly , intermettint fever,
pancytopenia : The causative organism is:
A- Leshmania donovani

B- trypanosoma Rhodesian
C-trypanosoma gambiense
Ans: A
2. In visceral Leishmaniasis which one is not a manifestation of the disease?
a. Promastigote is the infective stage.
b. Inside the macrophages the parasites are multiply as amastigotes.
c. Bite reaction is clearly seen.
d. Sand fly transmit the disease.
e. Pentostam is the drug of choice. é¢cly9 )giS3Jl JL8
Ans:c
3. Vector-transmitted Leishmania diseases?
a. Cyclop.
b. Chryspos.
c. Lice.
d. Sand fly.
e. Ticks.
Ans:d
4 Wrong statement about trypanosoma?
-vector is sandfly

5. Tse-Tse fly transmits which disease?
-T . Brucei

6. Tse Tse fly ?
-African Trypanosomes.

7. Culture on NNN medium, you can detect:
-Epimastigotes
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8. Trypansoma brucei gambiense is transmitted by:
A. Glossina palpalis

B. Glossina morsitans

Ans: A
9.Concerning sleeping sickness, all the followings are correct EXCEPT?
a. insect is the vector of transmission.
b. Trypomastigotes multiply in the human blood.
c. In late stage of infection. there is invasion of CNS and CSF.
d. Winterbottom sign is characteristic.
e. Epimastigote (crithidial form) are found in the insect and human.

Ans :e
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